=

LABJIND lightness
L*gs= (V) In[1 + b (Y/Y)]
a=0,3411 t=88,23 t/a=258,6 b=« =6,14

10

log (L*gg/L*gs5,) normalized LABIND lightness |({log(AY/AY,)  CIE tristimulus value difference
log (L*gs/ L*g5) Y normalized to A,
L*/L* g5 no CIELDEZOOO lightness AYIAY,

for LABJND and CIEbEZOOO
L* =116 (1Y) 3 - 1

tristimulus value difference according to CIEDE20Q
log(dY)=log( 3 {¥,/116) ) + (2/3) log{/Y,)

1410 ly

= log(3(Y, /116) + (2/3) logY)

YY),
S/Su=AYMIAYN), L ABIND& CIEDE2000

Y sensitivity according to CIEDE2000
log (dY/Y)/(dY1Y),] = (-1/3) log(Y/Y,)

My+=
0,86
L* g5,~508 Y,=18 et | Yu=18 dY,=0,83, (iY/Y,)=0,045
|J'LT'/'L*'"B"64'3 " = || F gAY Y(AY )20, M 20,81 27 =
gl(L* g5)/(L* g5,)]=0, m,=0,43, * : anmcaton Iog[(dY)l(dY )]=0, m,=0,81 anmicaton
'¢ § range m,_=0,85 y range
0,1 4 10 "Y,=18100y 0,1 i 10 'Y,=18100y
-1 -1
-2 -1 0 1 2 logY - -1 0 1 2 logY
heb51-5a heb51-6a
log[(AY/Y) I (AYIY),]  CIE Y sensitivit log[(Y/AY) I (YIAY),] CIE Y contrast
normalized to

normalized to (Y/AY),
C/Cry=(YIAY)/(YIAY), LABIND & CIEDEZOOO
Y contrast according to CIEDE2000

log[ (YIAY)I(YIAY),] = (1/3) log(Y/Y),)

L* =50, Y,=18, dY,=0,83
1410 1410
my-=-0,148 application L* =50, Y,=18, dY,=0,83, {/dY,)=22 s
N range M= Iog[(Y/dYL/(Y/dYL] 0, m,= 018 _ 0,13
Iog[ dY/Y),/(dY/Y),]=0, m;=-0,18 1 -0,13 Sopioaion
Y,=18, dY,=0,83, (IY/Y,)=0,045 '
=18, dY,= avyry,)= ' m,_=0,14 ., range
i 0,1 1 10 'Y,=18100y N 0,1 1 10 "Y,=18100y
-2 -1 0 1 2 logY - -1 0 1 2 logY
heb51-7a heb51-8a
heb51-7n




